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Press release of the first manuscript to define NetZeroCO2e or equilibrium for
atmospheric carbon dioxide. https://www.prnewswire.com/news-
releases/announcing-the-publication-of-the-first-atmospheric-carbon-dioxide-
equilibrium-manuscript-to-define-netzeroco2e-in-the-journal-of-earth-science--
climatic-change-301474023.html?tc=eml_cleartime

Comments from the scientific review here.
https://docs.google.com/document/d/1csplVi9SpiNRsLVPU-
nYwLwjl0alGQWVJd5kHmztPLQ/edit?usp=sharing

The only and fastest way to lower atmospheric carbon dioxide is to plant trees!
NetZeroCO2 or equilibrium has never been defined until now. We only have 8.6
billion tons of worldwide photosynthesis. We cant get to equilibrium from 33 billion
tons of emissions lowering! On Netflix please watch kiss the ground movie. How to
ruin an electrical grid in 3 easy steps. Solar panels dont work at night or with snow on
them.

https://www.youtube.com/watch?v=JYHX-Ib3Q5Q



